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Abstract of the contribution: This paper proposes the break-down of objectives of FS_MUSIM into a set of Work Tasks with granular TU estimate per Work Task.
1
Background
Based on the moderated discussion summarized in SP-191226 it is proposed to update the FS_MUSIM Work Task paper to focus on WT#1, WT#2 and WT#3 only.

2.
Discussion
Editor’s Note: Work Task Description should correspond to objectives in SID. One objective may be further broken into Work Tasks. 

Editor’s Note: Work Task may or may not directly translate into a Key Issue in a TR. 
NOTE 1: 
Total SA2 TU estimates originally reported for FS_MUSIM were 5+2 (see S2-1910836).  These estimates have now been increased to 7+2 based on the larger than expected number of input contributions.
NOTE 2:
At SA#86 Work Tasks for FS_MUSIM was revised to have total 6 (4.5 + 1.5) TUs for SA2 meetings in 2020. 
Table 2-1: Work Tasks for FS_MUSIM
	Work Task ID
	Work Task Title
	Work Task Description
	RAN Dependency 
	TU Estimate

(Study + Normative)

Total TU = 6.5 + 1.5 (8)
	Inter Work Tasks Dependency 



	WT#1
	Handling of MT service with Multi-USIM device
	How to handle the MT service for a Multi-USIM device with the aim of avoiding any unnecessary interruptions of the service in the current system and to save system resources.
	Yes
	2.5 + 0.5
	WT#1 is self-contained

	WT#2
	Enabling paging reception in Multi-USIM device
	How the system can enable operation when the paging associated  with the 3GPP RATs and systems in which the Multi-USIM device is in Idle state or RRC_Inactive state (for 5GS) overlap in time
	Don’t know
	2 + 0.5
	WT#2 is self-contained



	WT#3
	Coordinated leaving for Multi-USIM device
	How to enable a Multi-USIM device to leave the current 3GPP system in coordination with the network while avoiding wasting the network resource during the leave.
	Don’t know
	2 + 0.5

	WT#3 is self-contained
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